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2.1 OUOoooooooooon

00000000000000000 G.(s)e st 000000000000 Gpu(s) O
000000000 G(s) b00000obO0o0 210000000000 DOO0O0OOOO
gooudgouoogoogur, ogbodgbodgbodL, gobuboguoouogd

r e \V u
Gi(s) Gs)es f—2»
compensator plant

Ges( 1- e*m)

minor feedback

g 21 0000od

00000000000 000000DO0O00ooOopDooooooooOoonr(s) O



000 y(s) 000000000

G.(s)

= T Gus)Gn(s) X G r) (2.1)

y(s)

gogbouobodgb 21 00bgbogbogbgbdg220bb0bgooooo

Ir_+’9V_’ G(s) U LlGser
) compensator plant
Gys) |«
model

022 000000000000

000000000000000000000000000002200000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000 (21)000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000

000000000000 G.(s) 0000000000000000 Gu(s) 000
000000000000000000000000000000000000000
00 L, 000000000000000000000 L, 000000000000
(21) 0000000000

G.(s)

US) =  G)Gn () T G Grer — Gpe—tm) X () or(s) - (22)

0(22)0000000000000000000D0OODOOOOoOObObODbOOOOn
gboobodboogogbobbobuoogobuoooobbboboooouooo
gobbdboboubgbgbogbobobonoobobobobobobooobb
gooooogon
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2.2 OUOOOoooon

2.2.1 UJU0oooooooboooubobobo

i M G(s) 1, QGs)est Y,
compensator plant

023 0000000000

godbobodoobdbodboooboobnbbobobooooobooboon
gubobodounboggb 23 bbb uoguoooubboouboooan
000000000 (Ay)0DD0ODDOOA,c)0DDOODODDODOO

(plant)
&(t) = Az(t) + bu(t — L) (2.3)
y(t) = ca(t) (2.4)
(compensator)
2(t) = Fz(t) + Du(t) (2.5)
u(t) = Kqu(t) + Kaz(t) (2.6)

v(t) =r(t) —y(t) (2.7)
000000000000000 (23)«(27) 000

&(t) = (A — bKqc)x(t) + bEKz2(t) + bEGr(t) (2.8)
#(t) = —Decx(t) + Fz(t) + Dr(t) (2.9)
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[ - A+bKie —bK
det | e 2 (2.10)
Dc sl — F

= det(s] — F)det[s] — A+ bKic+bKy(sI — F)'Dc] (2.11)

¢(s)

gooo

2.2.2 JOogoOood

OO000000b0ObO22a000000000000D000000DODOOOOO (2.3)0
(24)00000000000OCOOOOOO0OO0O0OOCOODOOOOOOOOOLOO
(minor feedback)

Z(t) = AZ(t) + blu(t) — u(t — L) (2.12)
g(t) = cz(t) (2.13)
(compensator)
2(t) = Fz(t) + Do(t) (2.14)
u(t) = Kyv(t) + Kyz(t) (2.15)
v(t) = r(t) - y(t) - 9(t) (2.16)

00108 0@23)0 AD00DD00000000000 (23)~(24)00000 (2.12)-
(216)0000000000O0OO0O0

Proof.
ODDOOo00o00ooooooDDoO (23)0(24)0(2.12)(2.16) 000

&(t) = Ax(t) — bKjcx(t — L) — bK1c&(t — L) + bKs2(t — L) + bK;r(t — L)
(2.17)
#(t) = —bKycx(t) + bKycx(t — L) + (A — bKye)#(t) + bKci(t — L)
+bK5z(t) — bKoz(t — L) + bKyr(t) — bKyr(t — L) (2.18)
(t) = —Dea(t) — Dci + Fz(t) + Dr(t) (2.19)
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P(s) = det

= det

= det

[ sl — A+ bK ce sL bK ce *L —bKye L
(1—e*MbKie sI—A+(1—e*HoKie —(1—e*L)bK,
Dc Dec sl —F
sl — A bK e sk —bK,est
—(sI —A) sI—A+(1—e*")bKiec —(1—e MK,
I 0 Dc sl — F
[ sST— A bKjce™l  —bKje~l
0 sl — A+ bK;c —bK,
0 Dc sl — F

SI—A+bK16 —bK2

= det(s] — A)det

De sl — F

= det(sI — A)det(s] — F)det[s] — A+ bKc+ bKy(sI — F) 'Dc]
= det(sI — A)p(s)

00000 (221) 0000 2000000000 ¢(s) DOODOOoOoOOODOODD
O000O0O0O0DOO0000D000000 (221) 0000 1000000000000
O000C00O0O0O00O000D ADOQOOUOODOOOCDOODOOOOCDOoOn (2.14)-
(2.16) 0000000 ODOODODOOOCODOOOOOODOOOOODOOOObOODOO

gbooug Adbudboudgbouogbobouboubbobobudibil,

googbotooobd 21bodbogbodboubooooobobbogn

oot stgbodbouboouboubbuogbodgbonbobogoad

U(s) =0

goodgbuogobgboubogonounbouoouoon
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3.1 JUO0ooboobobodgooot

00000000000000000000000000000000000000
N000000000000000000000000000000000000000
00000000000 00000000000000000000000000000
N000000000000000000000000000000000000000
noo

0000000000000 4,060¢0L 0000000000 ADIcOL OO
N0000000000000000000000000 000000000000 ¢
000 (00 e>-1, ¢>-L)0O

A=A, b,=b,c,=(14+¢€c, L,=L+ (3.1)

Ne)



0000 (217)~2.19) 00000000 (3.1)0000000000000000000
0000

sI — A+ bK ece *(L+9) bK ce 5(L+9)

det | bKjec{l — (1 —e™*¢)e %L} sI — A+ bKc{l — (1 — e *¢)e*L}
Dec Dc
—bKyelLt)
—bKy{1 — (1 —e=*¢)e*L}
sl —F

[ T A b, cems(E+0) _bK e (b0
=det | —e(sl —A) sI — A+bKic{l — (1 —e*)e L} —bKy{1 — (1 —e*%)e L}

I 0 De sl — F

[ sT— A b ce—s(E+)
= det 0 sI — A+ bKic{l — (1 —e et} + ebKyce s(E+9)

.0 Dc

—bKyem3(E+C0)
—bKo{1 — (1 — e *¢)e L} — ebKyes(E+0)
sl —F
= det[s] — A]
sI — A+ bKic{l — (1 — e *)e™*L} 4 ebK ce™s(F+C)
Dec

x det

—bKo{1 — (1 —e™*¢)e L} — ebKye™s(E+0)
sl — F
= det[s] — A]det[s] — F|

X det[s[ — A+ bKcef{l — (1 —e*)e L} + ebKyce s(EH0)
—PbKﬁl—(l—e*%k*@}—ewgeﬂ@Hn@1_574D4
= det[s] — A]det[s] — F|
x det[s] — A+ {bKyc+ bKy(sI — F) 'De}{1 — (1 — e *)e *F}
+e{bKy + bKy(sI — F) *Deye *(210)]
= det[s] — A]det[s] — F]
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x det[s] — A+ {bKic+ bKy(sI — F) "' D}{[1 + {(1 + e)e™*¢ — 1})e™"]]
= det[s] — A] det[s] — F]
x det[s] — A+ bKyc+ bEa(sI — F) ™ De
+{bE1c + bEy(sI — F) ' De}{(1+ e)e * — 1}e ]
= det[s] — A]det[s] — F]det[s] — A+ bK c+bKy(sI — F) 'D(]
x det[I + {sI — A+ bKyc+bKy(sI — F) 'De} ™
x{bKic + bKa(sI — F) 'Dc}{(1+ e)e *¢ — 1}e *F]
= det[s] — A]det[s] — F]det[s] — A+ bK c+bKy(sI — F) 'D(]

x[1 + M(s)N(s)] (3.2)

D000M(s)0 N(s)0ODO0000000

M(s) = c{sI — A+bKc+bKy(sI — F) 'De} '0{ K, + Ky(sI — F) 'D}e %
(3.3)
N(s)=(1+4ee™ 1 (3.4)
O (3.2) 0000 Odet[s] — A det[s] — F]det[s] — A+bKic+bK,(sI — F)"'Dc 0000
0(220)00000000000000000000000000000O00O000000
0000000 ADD0DO0O0D00000000000000000000000000

00000000000 0Odet[s] — A] det[s] — F] det[s] — A+bK c+bKy(sI — F)~1Dc| O
000000000000000000000000000000000

[+ M(s)N(s)] = 0 (3.5)
ODDOO0O0000ooboOM(s)DO

M(s)=(0000000000000000000000)
x(0000000000)x(000000) (3.6)

gbogdbugooubogbogugbbgbouba Apogboooooooda
googoogbood Argggooboagbodgboodgoagon

(5) — GC(S)G(S) e—sL
1+ G.(s)G(s)

(3.7)
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O0D0ODOOON(s) OODODOOO0O0O00O0ODO0ODODODOO00bOOobODDOOoDbDOon
00000000000 N(s)y=000000000

00 2021000000000000 (31)00000000000M(s)N(s) 000
00 (-1,70)00000000021000000000000000000000000

Proof.

O35 000000000310 s0000000O00D0OO0ODODOOOOOOO
000000000000 R— oo OO00OOOOOOOTDOOOOODOD M(s)N(s)
ODoOoO0O00000000 3nbooM(s)booooooobbooooooooo

I m,

=R

Re

s=jR

U3 guudgad

0000000000000000000000000000000N(s)000000
D00e00000000000MOO0D000000000000000000R — oo
00000 M(s)— 0000000 |N(s)|:00 0000000000M(s)N(s)— 0
D0000000R— 0 O0000s00000000 M(s)N(s)0000000000
0D0000000000000000M(s)N(s)000000000000000000
0000000000000
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O00O0O0000O0ODOODODODODOODOODDO M(s)N(s)yboDooDooOoOooooo
gooupoaobdaod

3.2 U0O0OUUouooooooooooon

gobdubgubbuoogouoobobbooubbooboobbooobobboo
gogobbodno ¢=o0000b0on

N(jw) = (1+¢—1

goog

00 3000000000000000000000000000000000000
000000000 F D, K, K, 0OOOOOOOO0OO0O0OO0OO¢=0000 M(jw)O
0000 (-1/,70) 00000000000000000000

Ploof.

(=000000 Nyjw)=eOOOUODOODO wOOOOOooOobOOOODDODODO
Ooo0ooOo0O0O000D Myjw)OOOODODDOOOODOOODOOODODODDOOO
000 M(jw)N(jw) OOODO eN(s) DOOODODODOOOODODOODO 2000M(jw) OO
000 (-1/e70) 0000000000 ODO0OO00O0OO00OO0OO0O0OCDO0O0O .

000000000 000000DODO0O 32000000 Mw)ODODOOOOOO

000000 AO000000000000000
1
Re[Py] > —— (3.9)

goooobogon

3.3 Uuuobobbbbbbotdgoooobbbobobtbod

OO0000000000000 (e=0)0000000O00OCOOODOOODOODOO
gboogbuogoogbagboagoon
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15

0.5

-15 ! ! ! I I
-15 -1 -0.5 0 0.5 1 15

032 M(jw)DODODODOOOOOOO

0D00000000000000000000000000000000000000
1+ M(jw)N(jw) =0 (3.10)

0000000000000 (222)0000000000000000 wOODOO

1
N(jw)

M(jw) = — (3.11)

O00000M(s)D0O 33) 0000000000 000000 wD 000 co0OODO

000 M(ju)OOOODOOODODOOOOO0OOOO e 000000000000000O

godbouboooobgbobobobuobobobobobooouooubobobad
O@31)yooooooooooooooooooooooooooooooo

wja) = (1-e)

= {1—(cosa —jsina)}™*

::%_j&m%%%ﬁ} (3.12)
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0000 33000000000« 00000DO0O0O0O0 v(je)ODOODODOOOO
N +%DDDDDDDDDDDDDDDDDDDD 2r 00000 ObO0bOobOon
alv(je)DOOOOOO<a<2r0 —2r<a<0000000000O0O00O0OO

a—+0(000 a— -2r4+0)00 Imfr(ja)] = —o0
a=7 (000 a=-m)00 Im[v(ja)] =0 (3.13)
a—2r (000 a—-0)00 Im[v(ja)] — +oo

00000000000 ObO0ODbbO0O0d (e=0)00bDOoogo s.11)boo

1
N(jw)
oo ubouboubobogbuoobooboon

M(jw) = ———— = v(jCw) (3.14)

(1) M(jw)0OOO v(jw) 0OOOOO0D0DO

(2) M(jw)0DOOO v(jw)00O000000000M(jw)00000 w0v(jw) 00
000 « 000 a=¢w 0000000

gooo
O0ooo00ooooodooooooOM(jw) U000 vju)yOODOOODOOOODO
Uil wl « 000 ogbogbodgbouoouoad

0040 Q021 00000000000000000000000000000000
0000000000000000000000000 FD,K,K,OOOO 0000
0000000000000000000 (4, =4, b =b,c¢=c, L,=L+¢)00
ooo0oooooon

(i) M(jw)0ODOO¥jw) 000000 000000000000000000000
00000000000

(i) M(0)>000000 330000 M(jw)0OOOv(jw)0ODOOOO A,000
00000000 4,00 M(w)00000 o 000 w, Ov(jw) 00000 o O
00 0<a<2r 0000 oy 0-2r<a<00000000 ¢, 00000

¢ = i (3.15)

( = max (—L,Ogl> (3.16)

W1
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(iii)

15

1 a=21(-0)

« v(jo)

=TT

Im
o
T
I

-0.5f 8

= M(jo)

Ay

1 a=0(-2m)

-15 I I I I
-15 0.5 15 -15 0.5 15 -1.5

Re

0 3.3 M(jw)Ov(je)0OODO 10000000

god.gbbogbogbbbbooobogbogbooboon

(<(<¢ (3.17)

gbdgobbdobogbobnbooboboobboubnbooboobooboon

M(0)>000000 340000 M(jw)DOOOv(jw)DOO0 kO Ay,---, A
00000000000 4 00 M(jw)00OOOO 000 w0v(jw)0OO00
0e0000<a<2r 0000 0-2r<a<00000000 & 00000

¢ = min (Z:,--,ZZ) (3.18)
( = max <—L,z—1,---,z—:> (3.19)

gobbbodoboboooooobuobuobobobooog

(<< (3.20)
goodooooouoodoo
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15

Im
o
T
I

-0.5f 8

= M(jw)

-15 I I I
-15 0.5 15 -15 0.5 15 -1.5

Re

0 3.4: M(jw)Ov(jo)00O00 30000000

Proof.

(i) M(jw)0ODOO v(jw)00DO0O00000000000000 AQOOM(jw)N(jw)
000000000000 (—e0,-1) 0000000000000 (~1,50)000
00000000000000

(i) (>0000 (0<L<L,)000000 (3.14)000
arg[N(jw)] = — arglv(jw)] — = (3.21)
000000
arg[M (jw)N(jw)] = arg[M (jw)] — arg[v(j¢w)] — = (3.22)

O00D0DO0O0OD0O0D00wO 0Dco ODODODDDDOD MjuN(Gjw)ODDOODOO
oot «w=0000
M(jO)N(j0) = 0 (3.23)
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0000
w=4000000 Darglr(jcw)] — —7/2000000 [M(0)]=00000000
(3.22) 00000 Darg[M(jw)N(jw)] — —r/2 000000000

w—+00000M(jw)N(Gw)DOODODOOOO00000  (3.24)
0<w<w 000001/2<ReM(jw)) 000000000 (b)0O0

0<w<wDOOO00OM(jw)N(jw)0ODOOOOOO0O0O000
[—1,00)000000000Ow=K(2r/¢)000000000
000000 (KOO00)O (3.25)

w <w<oco DOODODORe[M(jw)] <1/2000000000 (a)000

w <w<oo00000OM(jw)N(jw)DODOOOOO (—o0,—1]
0000000000 (3.26)

w—ooO00000
w—o00o000000M(jw)N(jw)— 00000 (3.27)

000000000 w0 O0~c0oO0OD0ODOOOOODOOOOOM(jw)N(jw)DO O
O00000do0ooOo0ooooooooogo (-,yj0)0o0bboooooboooo
gooagoad

O000<¢< (00000000000 <(w <o <2r 0000000000
w=w 0000v(j¢w)ODODODO A, 000000000C0DODOOO

— /2 < arg[v(jlw)] < arg[M (jwi)] < 7/2 (3.28)
000000000 (3.22) 000
— 7 < arg[M (jwi)N(jw1)] <0 (3.29)

00000000000000w=w 000 M(jw)N(jw)0OOOODOOOOO
D00000w <2r/¢ 0000000<w<w; 00000M(jw)N(jw) D000
000000000000M(jw)N(jw) 00OD0O0O (-1,j0)0000000000
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(iii)

00 20000000000000000000¢<¢0000000000000
(<(<2r/w; 000000000000 0Cw >0 000000w=w, 000
00v(jtw) 00 A,00000000000

—7/2 < arg[P(jun)] < arglv(icen)] < 72 (330
000000000 (3.22)000
— 21 < arg[M (jw,)N(jwy)] < — (3.31)

O00000000000000w=w, 0000 Mju)Njw)OOOODODOODODO
000000D000M(jwN(Gw) 00000 (-1,70) 0000000000 20
OOoooDDOOO0O0000o00ooobo. 2rfjw<¢OO0OoOoOobOObODbDbDODO
Jooodooooidld w=w0OOO ¢(w=2r 0000w —-w—-00000
argv(jw)] — 7/2 000 0arg[M(jw)] OO

—7m/2arg[M(jw)] < 7/2 (3.32)

0000000000000 (3.22)00 M(jw)N(jw)0OOO000000000
D0000000000000000M(jw)N(Gw)0O0000 (-1,50)00000
000000000002000000000000000

(<0000 (0L, < L)0¢wOOOOODOOOOODODODOOOO¢C>00000
guoboboboooboobd

M(jw)0DOOO v(jw) 0OOOOOO0ODOO0OO0O00O00000000000 4(i)
0000000000000000000000000000000000000
00 (k=2)00000000000000w <w, 0000

0<(<(000D0004G)000D00O0D000O0OOO0

0<w<wO000000OM(jw)N(Gw) 0000000 (oo, —1]0
000000000 (3.33)

gooooo
0 > arg[M(jw;)N(jwy)] > —7 (3.34)
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gon

w <w<w00000M(w)N(jw)00OODOO0O0O0O00O
[-1,00)000000000000000000w=K(2r/¢)0
000000 (3.35)

gooooo
0 > arg[M (jw;)N(jwy)] > —7 (3.36)
oo

w<w<ooOODDO00M(GwN(jw)DODOOOOD
(—00,—1]0000000000 (3.37)

000000000 G)0000000 (3.22)0(3.23)0(3.26) 0 00 M(jw)N(jw)
00000 (-1,j0)00000000000

0000C<(¢<0000000000000m

OO0O000o0dbbo0o@oooooooobbbooo0oog@yoooooobon
godbgoogooobobboobooboobooboboboobobboooobooan
U0 w, U o UU0000ogogogogbgogbooouogogooooooon
gogudbodobogbooboobooboboboooobobnobooboooogn
gogbdooobnogogogbobonobooboboboboooubonogn
godbdobodboboobnogboobouboobobobbobononounooogn
o4 obonbooboboon
gogooubouoobogbgbobboboboboboooobuonoabn
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god Al

M(s)ON(s) 0000000000 0000000000 (=0)0000000Q =
[wl,wg] good

(a) we QO OO0 Re[M(jw) < 30000000M(jw)N(jw) DO DOOO0O0000
00 (—00,—1] 0000000000

(b) w € Q0000 Re[M(jw)] > 1000000 0M(jw)N(jw) 00000000 O
00000000 [-1,00)0000000000000w=K(2r/¢)000000
M(jw)N(jw) 00D DOOODOOOO0O0000 (KOOoO).

Proof.
M(jw)N(jw) ODOODODDODOOODOODOOOO0OO0OOM(jw)Njw) ODDODOOODODO
MGw)yOOODOOODOOO Njw)ODOOODOOOOODDOOOOOODODDOOO

Re[M(jw)N(jw)] = —(1 — cosCw)Re[M(jw)]+ sin (wIm[M (jw)] (3.38)
Im[M(jw)N(jw)] = —sin(wRe[M(jw)] — (1 — cos(w)Im[M (jw)] (3.39)

00000000 w0000 Mjw)Njw)OOODOODOOOOODOOODODOODO
U0 wdoooogg
[ M(jw)N (je)] = 0 (3.40)
oot
000 —cosCw)=000000 sin(w=00000M@{Gw)Nw)OODOOODDODO
Ooo00gooooo
0001 -cos¢w)£ 0000000

Il ()] = ;oo 2 RelM () (3.41)

000000000 (341) 00 (3.38) 0000000

;2
Re[M(jw)N(jw)] = —Re[M(jw)](1— cos(w + 18—”2:04;2(,0)
o ) 1 — 2cos (w + cos? (w + sin? (w
= RelM() ( 1 —cos(w )
= —2Re[M(jw)] (3.42)

oo AU .
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34 UOUO0O0O0OOOOOOOOOOOOOOOOOOOOn
HEN

D00000000000000000000000000000000000000
D0000000000000000 (3.11)0000000000000000000
ooooog

f(e,jo) = {1 — (1 +e)e 72}t (3.43)

OO00000D000CDO0O00000 0000000000 &6 jo)d00OD0OO (—1/¢40) 0
O(1/(2+¢),70) 000000000 OODOO0O0O0O0O0ODOODODOOOOOODDOO
0000000000000 000000D0DO0O0O0O0O e000O0O €6,jo) 0000
000 Mjw) OOOODOOODOOODOOODOOOOOOOOOOOOOODOODO
goodgd

00 5 0210000000000000000000000000000000000
00000000000000000000000F,D,K;,K, 000000000000
00000000000000000000 (A, =A,b=b, ¢, =(14€)c, L, = L+C)
0000000000000

0<eODDOOOO

(1) M(jw) 0000 &(ep,jo) 000000000 000<e<e 000000000
0000 «000000000000¢0000000000000000000
000

(2) M(0)>00000M(jw) 0000000 /M(jw) 00000000M(jw) 000
O ¢(e,ja) 0000 kO A,,---,4, 0000000000000 4 00 M(jw) O
0000 wO000w0¢(e,jo) 00000a 000 0<a<2r 0000000 o O
r<a<00000000d4 0000

¢ = mm(%?~y39 (3.44)

( = max <—L, %, . ak) (3.45)
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gudoodobuoobooobodn egbbbbboboobouooonoaobda
goupooood

(<(<¢ (3.46)

gooooogoooboooo

I m,

0 35: é(e,jo)00000ODOO

0>e0000n0 o

(3) Mjw) DOOOODODODO nle) OODDOOOOOOO0-1<e< e IDOOODOOO
guotbobobubguoobodbobooboobooboooobogn
gon

(4) M(0)>00000M(jw) 0000000 /M(jw) 0000000 0M(jw) OO
00 é(e,ja) 0000 k0 Ay,---,4, 0000000000000M(jw) OO
000000 g 0000000 By,---,B, 00000000000 B, 000
0 M(jw) 0000 wO0OOw,000000 4, 0000¢(e,jo) 00000 o 00
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U0<ao<2r 0000000 U-2r<a<00U000000 « OOOOOOO0

¢ = min (%, e %) (3.47)
1 Wk
¢ = max <—L, Z—i, . %) (3.48)

gobodboboboobobbU e ooboo ¢cgbog
googooad

(< (< ¢ (3.49)
goddodoooooogoad

Proof.

(1)

(3)
(4)

0000000000 B(b)DOO00 M(jw) D000 &(e,jo) 000000000
0000 M(jw)N(jw) 0000 (-1,j0) 000000000000 (—occ,—1] O
000000000000 (-1,50)000000

¢(>0000000M(Gw) 0000000 &(ejo) 000000000000
M(jw)N(jw) 0000000 (—00,—1] 0000000000000 M(jw) OO
00¢(e,jo) 00000000000000000& 0000 M(jw)N(jw) 00O
0D000000000000000 B(a)000 M(Ga)00 &(ej¢a)000000
00000000000000

| M(j@) |<| &(e,j¢@) | (3.50)

0000000000 M(jw)N(jw) 0000000 (-00,—1] 00000000
0000000

(H)0000000000

(2)0000000000
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0od BO

M(s)ON(s) Dé(e,jo) 0000D000D0000000000000 (e=0)00000
00000Q=[w,w) 0000

(a) 00 @ 00000M(jw)N(w) 00 OODOO0DOO0O000000000000000
M@®)00 &, j¢a)000000000000000

(b) e>0000000weQ0O0O000 M(jw) O &(e,jo) 000000000000
D0 weQOOO00 M(jwN(jw) 000000000000 (—o0,—1] 0000
0oooon

(c) e<000000000 0(0,50)00 &(e,jo) 0000000000000000O
s, 000 S 00000000 05,0 0500000000 7,0 7,00000
00 STy 08T, 0 &(e,ja) 00000 §,500000000000000000
000p 000 (035)0weQ0000 M(jw) 0OODOOOO g 0000
00000weQ D000 M(jw)N(jw) 000000000000 (—oc,—1] O
0oooooooo

Proof.

(a) O (3.22)000
arg[N(jw)] = —arg[é(e, jCw)] — 7 (3.51)

nooooo
arg[M(jw)N(jw)] = — arg[¢(e, j¢w)] — 7 + arg[M (jw)] (3.52)
D00000w=&00000M(jw)N(jw) 000000 00000000
arg[M(j@)N(jao) = (20 + D (1=1,2,--") (3.53)
00000 (3.52)00
arg[M(jw)] = arg[¢(e, jC@)] & 21w (3.54)

D000000 w=0 00000 M@)00 & j¢e) 000000000000
0o0000o00o0ooon
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(b) wOOD @eQD00000M(w)N(jw) 00 DO00000000000000
000000000 M(j@) Oé(e,je) 00000000000

| M(j@) [<[ &(e, j¢0) | (3.55)
000000 -1/N(j®) =] &(ei¢@) D00

| M(G@)N(j@) |< 1 (3.56)
D00000000M(j@)N(j@) 0000 (-1,00000000000

(¢) 00 € Q00000M(jwN(Gw) 00000000000000000000
0 M(j») 0 0000 5l 00000000000000000 (3.55)0(3.56) O
0oooo

oot BOdbbddUl,
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] 4 1]

Jobouoty

gbdbubogboboobdoobobuggbbooboobobubboobo
gboooouboobobobdbooooboboboboobuoboboon

4.1 OO

goboogbododgogoooon

G(s) = (4.1)

hs+1
0oO0o0o0o0o0oon
14s + 11.25
Gy(s) = 202 (4.2)
S
0000
0 (41)042)0000000000000000
7052 4+ 70.255 + 11.25 B
_ —s A
Ga(5) = 9533 1 802 4 71255 + 11.25° (4.3)

gooobooooobot o good
gooooood 6 bood

{1 (0<t<1000)
61;:

0 (0OO)

googg

27



4.2 OJ000O00O00O00O0000000
0000 (41)0000000000000000000
A=-02,b=1,¢=02,d=0 (4.4)

gooo
0000 (3.7)Co0foO0Ooocooo0o0ooooboogoO (43)0boooooooo
ODDOoOO00o0ooobobooDD M(s)bDDOoO
O00000000000D00O0DO00DbO0b0D000 (¢=00M(jw) 0000 w=
000000000D000000ODO0O0 pOOD0ODODOReA]=-080000000 30
gobobgogobdobobood

1
Re[Pl] > —;

1
—0.890 > ——
€

€ < 1.1236 (4.5)

00000000 3.)oOoOoooooooooobooooobbOoooDoboOoOg e=
L2600 0o bid e, =04247200 0000000 ¢=0.2
gooo
obododgbboooobbbodubbdbdoobibdoibiUe, =0.42472
goodboodtd=zx cordbogbbogobuobgnbouboboboubooba
ool ddudoooboogobbououobboboboooooooooooon
¢, =0.42472 (e=1.1236 00 0)0 000000000 OO0 -0000 -0O0DO ODOO
gogboubogboboboobggouboboboboooano
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Pulse Response

L L L L L
o 5 10 15 20 25 30 35 40 45 50
Time (s)

-5 1 1 1 1

041: 000000001 (¢ =0.414720¢ = 0.2)

Pulse Response
o

-5 I I I I I I I I I
0 5 10 15 20 25 30 35 40 45 50

Time (s)

042: 00000000 2 (¢, =0.424720¢ = 0.2)
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IS
T

w
T

N
T

[N
T

Pulse Response
= o

N

w

-5

L
10 15 20 25 30 35 40 45 50
Time (s)

043: 00000000 3 (¢, = 0.434720¢ = 0.2)

4.3 UO0U0OUOUOOOOOOOOOOOO0O

0 (4n)0@2)00bobooooooboooobobobbooobooobbobboooobo
googgouooobugboboobnoobonboobob c=o0700booboobono

ot L=10000

4.3.1

10000000 (e=0,L=0.7)

gooobd 4000

L=0]|A4; | w=1.0996 «;=0.94248 &;=-5.3407
Z = ozl/wl
— 0.8571 (4.6)
¢ = max(d;/wi,—L)
= max(—4.8569, —0.7)
= —0.7 (4.7)
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000000000000
—0.7<¢<0.8571 (4.8)

00000000000000000000
0< L, <1.5571 (4.9)

ooooooooog L,=0¢=-0ooobobobobobbbboOobboooooooon
gubuogogbogbobuogbogboogubounboubobononboonoogn

Pulse Response
o =

L L L L L L L L L
0 5 10 15 20 25 30 35 40 45 50
Time (s)

044 000000 (00)000 1 (L, =00L =0.7)

googood
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000000000 L,=1.5571(¢=0.87) 0 00000000000O0O00O0O0OODO
O+ 010000000000 0O0OODOOOODODODOD4G)DODOODODOOO0O0OO

[N

A AN~

Pulse Response
o

L L L L L L L L L
o 5 10 15 20 25 30 35 40 45 50
Time (s)

045 000000 (00)000 2(L, = 145710 L = 0.7)

Pulse Response

L L L L L L L L L
0 5 10 15 20 25 30 35 40 45 50
Time (s)

046 000000 (00)000 3 (L, = 1.55710 L = 0.7)
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Pulse Response

L L L L L L L L
o 5 10 15 20 25 30 35 40 45 50
Time (s)

047: 000000 (00)000 4 (L, = 1.65710L = 0.7)

0D000000000000000000000000000000000000000
00000000 (L, =15571)00000(L, =1.4571) 000000 0(L, = 1.6571)
0000000000000000000000000000000000000000
0000000
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4.3.2 30000000 (e=0,L=1)

e=20

Aq
Az
As

w1=0.87266 ;=0.94248 &;=-5.3407
wo=4.7560 0=3.9444  4,=-2.3387
w3z= 5.2098  @3=2.9583 d&3=-3.3249

000000 4(ii) 000

¢ = min(al/w17a2/w27a3/w3)

= min(1.0800,0.8294, 0.5678)
= 0.5678 (4.10)

max(oél/wl, 022/002, 023/W3, —L)
max(—6.1200, —0.4917, —0.6382, —0.7)
—0.4917 (4.11)

gooobuguouoogooad

— 0.4917 < ¢ < 0.5678 (4.12)

goobooububobobobobgogd

0.5083 < L, < 1.5678 (4.13)

U 48049 0 00000O0OOODLOO0ODLOODLDOObOOObLbLO0bOo0bbOonn
oooOOoO0OO0o0DODOO0OD ¢12)000000000000000OoOo0ULDOoboOo
oo boooobobooan
gogooobooboboboboobboboboboo
O0000000000DO0000000000DO0DO0ODO00DO00O0D00O00d (e=
o)J00d0CboOoOooOoOoOOo0ob0OoOoU0oobDOooooDoUooDoboOoOoboDbOOO
Uooboobodbd e bb0boboboboboobo
gbogbutbbooubguboouuoboobuogbuoobouon
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O 4.8:

Pulse Response

0 4.9:

Pulse Response
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000000(00)000 1 (L, =0.50830L = 1)

&

IS
T

w
T

N
T

-

o

B

i
T

I
N
T

L L L L L
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5 [

Jobouoty

gobduogobguobgbobooobbobooboobobooobboboo
gogoouobdbobooobobbooobobobobobooooobon

5.1 OOOOOoUooon

0 (41)0(.2)0000000000000O0OO000O0DOO000D0OLObOOOOobO
OO000000O0000oO0oO0 @)yopooooogooo r=500000000
000000000000 00000D (e=0)pb0b0DbODbOOOO0OODOODOOOOO
gudboogudl egdoogbgbobuogoog saugnoooooboonbog
Oo00o00 ¢duub ebbdoogobbbobdedobbboooboobbboOon
U000 w Do OOOOUOOOO 1020000000000 0005000000
googboggdg s3dbgnoog
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Im

15

0.5

-0.5

-1.5

O 5.1: M(jw)O&(e,jo) DODO (e =0.2)
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0 5.1: M(jw)OOOO&(e,jo) 00000000 wO « 00000 1

e=1 | A, |00
=09 | A; | w;=0.09163 ;=1.4944  &,=-4.7888
=08 | A; | w;=0.18326 «;=1.4181 &, =-4.8651
e=0.7 | A; | w;=0.27053 ;=1.3483  &;=-4.9349
e=-0.6 | Ay | w1=0.35779 ;=1.2828  &;=-5.0004
=05 | A | w;=0.44506 ;=1.2195 &;=-5.0637
=04 | Ay | w;=0.53014 a;=1.1606  d&3=-5.1226
=03 | A | w;=0.61523 ;=1.1039  &;=-5.1793
=02 | Ay | w;=0.70031 «;=1.0494  G;=-5.2338
e=-0.1| A | w;=0.7854  ;=0.99484 & =-5.2883
=0 | Ay | w;=0.87266 ;=0.9403  &;=-5.3429
Ag | wo=4.7538  2=3.9466  G=-2.3366
As | w3=5.2098  @3=2.9627  3=-3.3205
e=0.1 | A; | w;=0.96211 «;=0.88575 &y=-5.3974
Ag | wy=4.5859  p=4.2521  p=-2.0311
As | w3=5.3582  @3=2.666  d3=-3.6172
=02 | Ay | w1=1.0537  ;=0.82903 1=-5.4542
Ag | wy=4.4528  p=4.4615  dp=-1.8217
As | w3=5.4694 @3=2.4696  &3=-3.8136
=03 | Ay | w;=1.1476  0;=0.77231 &;=-5.5109
Ay | wp=4.3306 y=4.6317 d»=-1.6515
A; | w3=5.5654  3=2.3169  d3=-3.9663
=04 | Ay | w;=1.2479  ;=0.71122 é;=-5.5720
Ag | wo=4.2128  @,=4.78 bip=-1.5032
Az | w3=5.6527 @3=2.1882  dz=-4.0950
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0 52 M(jw)OOODO&(e,jo)00000000wd o« 00000 2

€=0.5 A | w1=1.3526 ;=0.64795  &;=-5.6352
Ay | wy=4.005 ay=4.9131 Gy=-1.3701
As | w3=5.7356 a3=2.0748 Gz =-4.2084
¢=0.6 A | wi=1.4617 ;=0.58032  &;=-5.7029
Ay | wy=3.9728 @y=5.0418 dn=-1.2414
A; | w3=5.8163 a3=1.9722 3=-4.3110
e=0.7 A | wi=15817 a;=0.50615  &;=-5.7770
Ay | wp=3.8441 @p=5.1662 bp=-1.1170
As | w3=5.8927 a3=1.8806 b3 =-4.4026
¢=0.8 Ay | w=1.7148 ;=0.42324  &;=-5.8599
Ay | wr=3.7066 y=5.2927 bin=-0.9905
Az | w3=5.9668 a3=1.7977 iz =-4.4855
€=0.9 A | w=1.8631 ;=0.32943  &;=-5.9538
Ay | wy=3.5496 p=5.4258 biy=-0.8574
As | w3=6.0432 a3=1.7148 Gz =-4.5684
e=1.0 Ay | w1=2.0442 @;=0.2138 6 =-6.0694
Ay | wy=3.3663 y=5.5741 biy=-0.7091
A; | w3=6.1152 a3=1.6406 b3 =-4.6426
e=1.1 A | w1=2.2886 ;=0.054542  &;=-6.2286
Ay | w=3.1176  ay=5.7639 p=-0.5193
As | w3=6.1894 a3=1.5664 i3 =-4.7168
e=1.1236 | A; | w1=2.3693 ;=0.0021817 &;=-6.2810
Ay | wy=3.0347 @y=5.825 bip=-0.4582
As | w3=6.2068 az=1.549 biy=-4.7342
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053 «e00000D0O0O0O0OO0O0O0ODO((OOT=5000)

e=-0.9 -1< ¢ <16.3091
e=-0.8 |-1<( <7.7382
e=-0.7 -1< ¢ <4.9839
e=-0.6 -1< ¢ <3.5853
e=-0.5 -1< ¢ <2.7401
e=-0.4 -1< ¢ <2.1892
e=-0.3 -1< ¢ <1.7943
e=-0.2 | -1< ¢ <1.4985
e=-0.1 -1< ¢ <1.2667

€=0.0 -0.4915< ¢ <0.5687
e=0.1 -0.4429< ¢ <0.4976
¢=0.2 -0.4091< ¢ <0.4515
¢=0.3 -0.3814< ¢ <0.4163
e=0.4 -0.3568< ¢ <0.3871
e=0.5 -0.3346< ¢ <0.3617
€=0.6 -0.3125< ¢ <0.3391
e=0.7 -0.2906< ¢ <0.3191
¢=0.8 -0.2672< ¢ <0.2468
€=0.9 -0.2415< ¢ <0.1768
e=1.0 -0.2106< ¢ <0.1046
e=1.1 -0.1666< ¢ <0.0238

e=1.1236 | D OOOO
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052 0000000000(MDOO0T=5000)
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godbugboboubbbodbobnououbodgd s3idlle=112360000
gboubgdgbuoboobbbobobobogbg s3idle=000000oong
googobossibibididiblde==-090000000000000000000O00O

Pulse Response

i i i i i i i i i
0 100 200 300 400 500 600 700 800 900 1000
Time (s)

053 0000000001 (e=-0.9,¢, =0.02,L, =16.3091)

Pulse Response

i i i i i i i i i
0 100 200 300 400 500 600 700 800 900 1000
Time (s)

054 000000000 2(e=-0.9,¢, =0.02, L, =17.3091)
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Pulse Response

i i i i i i
0 100 200 300 400 500 600 700 800 900 1000
Time (s)

O 55 000000000 3(e=-0.9,¢, =0.02, L, = 18.3091)

e=—-0900000O0O0OOOOO
— 1< ¢ < 16.3091 (5.1)
goooubougooboouboobooboobbonod
0< L, <17.3091 (5.2)

O0000D000000ooog L, =173091(¢ =16.309) 00000000 00O0OO0O
gogbobodtb+x 1gbodgbgbogubboboooobgoubobobon
god

godgoogubobogbobobodaboooobooboboooubbooon
godboobodbogbboubouoobobooboboboooobuobonoo
gbgouobogoobobodgbobuobooooobbobobogbobon
gobobboggobobotgbgbobooooobogboobooboobnoboon
gubdbodbouodbuogguonbogbogboobogboobbooboonon
googbooooooood

b sboudbogubogubouogbobououogubooobuoouobooonn
goooon
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5.2 UU0O0OUOOUOUOOOOooooon

000000 7T=5000000000000 7000005, 3,2, 1,0.5,0.2, 010
0000000000000000

5.2.1 0UUOO T=3000

b r=300ogoogon

G(s) = (5.3)
ogooo

00000 (42)0(.3)000000000000000

4252 + 47755 +11.25
= €
983 + 4852 + 48.75s + 11.25

Gis)(s) (5.4)

gooobooooobot o good
OO00ooO0o0ooO0ooooo0oooD0OM(jw) DOOOOOOOOOOOCODO
PyO00000ORe[Pg] =-0.95055 00000030 000000000000000O0O

1
RG[P[3]] > —;

1
—0.95055 > ——
€

e < 1.0520 (5.5)

gooo
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054 e0J0000ODOOOOOOOODO(OOT=3000)

e=-0.9 | -1< ( <16.4571
=08 | -1< ¢ <7.8905
e=0.7 | -1< ¢ <5.0605
e=-0.65 | -1< ¢ <4.2506
e=0.6 |-1< ¢ <3.6375
e=-0.55 | -0.5438< ¢ <0.5960
e=-0.5 | -0.4700< ¢ <0.4973
e=-0.4 | -0.4129< ¢ <0.4241
e=-0.3 | -0.3785< ¢ <0.3797
e=-0.2 | -0.3527< ¢ <0.3470
e=-0.1 | -0.3321< ¢ <0.3205

¢=0.0 -0.3141< ¢ <0.2981
e=0.1 -0.2978< ¢ <0.2782
¢=0.2 -0.2826< ¢ <0.2604
¢=0.3 -0.2676< ¢ <0.2440
e=0.4 -0.2527< ¢ <0.2288
e=0.5 -0.2372< ¢ <0.2144
¢=0.6 -0.2207< ¢ <0.2006
e=0.7 -0.2023< ¢ <0.1874
e=0.8 -0.1809< ¢ <0.1747
e=0.9 -0.1538< ¢ <0.1536
e=1.0 -0.1122< ¢ <0.0676

e=1.0520 | D OOOO
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5.2.2 UUOO T'=2000

oo r=2000000000

G(s) = (5.6)

0000
00000 (42)0(.6)000000000000000

28s% + 36.5s + 11.25 —sL

G =
[2](5) 453 4+ 3252 + 37.55 + 11.256

(5.7)
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PyO00O00DORe[Py]=-0.96752000000300000000000000000
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Re[P[2]] > —z
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e=-0.9 | -1< ¢ <16.5429
=08 |-1<(<7.9714
e=-0.75 | -0.5036< ¢ <0.5240
e=-0.7 | -0.4318< ¢ <0.4393
e=-0.6 | -0.3739< ¢ <0.3696
e=-0.5 | -0.3423< ¢ <0.3296
e=-0.4 | -0.3203< ¢ <0.3010
e=-0.3 | -0.3033< ¢ <0.2781
e=-0.2 | -0.2888< ¢ <0.2585
e=-0.1 | -0.2563< ¢ <0.2413

€=0.0 -0.2132< ¢ <0.2226
e=0.1 -0.1935< ¢ <0.1998
e=0.2 -0.1789< ¢ <0.1831
€¢=0.3 -0.1668< ¢ <0.1696
e=0.4 -0.1563< ¢ <0.1582
e=0.5 -0.1466< ¢ <0.1480
€=0.6 -0.1375< ¢ <0.1389
e=0.7 -0.1289< ¢ <0.1304
€=0.8 -0.1204< ¢ <0.1226
€=0.9 -0.1119< ¢ <0.1111
e=1.0 -0.0756< ¢ <0.0570
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5.2.3 UUUO T'=1000

b 7r=100o0d0oogon

G(s) = (5.9)
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G =
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e=-0.9 -0.4976< ¢ <0.5037
e=-0.8 -0.3446< ¢ <0.3350
e=-0.75 | -0.3134< ¢ <0.3031
e=-0.7 -0.2740< ¢ <0.2648
e=-0.65 -0.2241< ¢ <0.2273
e=-0.6 -0.2017< ¢ <0.2025
e=-0.5 -0.1775< ¢ <0.1755
e=-0.4 -0.1623< ¢ <0.1585
e=-0.3 -0.1424< ¢ <0.1450
e=-0.2 -0.1263< ¢ <0.1272
e=-0.1 -0.1155< ¢ <0.1155

¢=0.0 -0.1071< ¢ <0.1065
e=0.1 -0.1001< ¢ <0.0990
€=0.2 -0.0936< ¢ <0.0923
e=0.3 -0.0865< ¢ <0.0865
e=0.4 -0.0805< ¢ <0.0810
€=0.5 -0.0754< ¢ <0.0759
e=0.6 -0.0706< ¢ <0.0711
e=0.7 -0.0662< ¢ <0.0666
€=0.8 -0.0621< ¢ <0.0621
€=0.9 -0.0580< ¢ <0.0577
e=1.0 -0.0526< ¢ <0.0524

e=1.0352 | D O0OOO
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5.2.4 0UUO0O T'=05000

oo Tr=05000000000

_ 12
G) = 05 r1 (512)
0000
00000 (42)0(5.12)0000000000000000
752 +19.6255 + 11.25 .
Glos)(s) L (5.13)

~ 0.2553 + 852 4 20.625s + 11.256
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00000000000000000000M(jw)000000000000000
Pos00000Re[Pog] =—0.95541 000000 300000000000000000

1
Re[P[0_5]] > — z

1
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€ < 1.0467 (5.14)
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e=-0.9 | -0.3731< ¢ <0.3668
e=-0.85 | -0.2132< ¢ <0.2131
e=-0.8 | -0.1825< ¢ <0.1805
e=-0.7 | -0.1292< ¢ <0.1289
e=-0.6 | -0.1067< ¢ <0.1072
e=-0.5 | -0.0909< ¢ <0.0905
e=-0.4 | -0.0799< ¢ <0.0802
e=-0.3 | -0.0711< ¢ <0.0710
e=-0.2 | -0.0650< ¢ <0.0647
e=-0.1 | -0.0588< ¢ <0.0589

€=0.0 -0.0542< ¢ <0.0541
e=0.1 -0.0503< ¢ <0.0502
e=0.2 -0.0466< ¢ <0.0467
e=0.3 -0.0434< ¢ <0.0434
e=0.4 -0.0406< ¢ <0.0406
e=0.5 -0.0381< ¢ <0.0380
€=0.6 -0.0358< ¢ <0.0357
e=0.7 -0.0335< ¢ <0.0335
€=0.8 -0.0314< ¢ <0.0314
€=0.9 -0.0293< ¢ <0.0293
e=1.0 -0.0270< ¢ <0.0269

e=1.0467 | D OOOO
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5.2.5 0UUOUO T'=02000

gbd Tr=02000000000

_ 1
G) = a5 v 1 (5.15)
0000
00000 (42)0(5.15)0000000000000000
2.85% + 16.25s + 11.25 .
Gloz(s) L (5.16)

T 0.045% + 3.252 1 17.255 + 11.25°

0000000000000 L0000
00000000000000000000M(jw)000000000000000
Pox00000Re[Pgy] =—0.94538 000000 300000000000000000

1
RG[P[[)_Q]] > — z

1
—0.94538 > ——
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e < 1.0578 (5.17)

gooo

58



058 «e000D00ODOO0OOOOO0O0OO@EIOO T=02000)

e=-0.9 | -0.1480< ¢ <0.1478
¢=-0.85 | -0.0981< ¢ <0.0979
e=-0.8 | -0.0735< ¢ <0.0736
e=-0.7 | -0.0540< ¢ <0.0540
e=-0.6 | -0.0434< ¢ <0.0433
e=-0.5 | -0.0370< ¢ <0.0369
e=-0.4 | -0.0324< ¢ <0.0324
e=-0.3 | -0.0289< ¢ <0.0289
e=-0.2 | -0.0261< ¢ <0.0261
e=-0.1 | -0.0238< ¢ <0.0238

€=0.0 -0.0218< ¢ <0.0218
e=0.1 -0.0203< ¢ <0.0202
¢=0.2 -0.0189< ¢ <0.0189
¢=0.3 -0.0177< ¢ <0.0177
e=0.4 -0.0166< ¢ <0.0168
e=0.5 -0.0156< ¢ <0.0158
€=0.6 -0.0146< ¢ <0.0148
e=0.7 -0.0137< ¢ <0.0138
e=0.8 -0.0128< ¢ <0.0128
€=0.9 -0.0118< ¢ <0.0119
e=1.0 -0.0109< ¢ <0.0109

e=1.0578 | D OUODOU
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5.2.6 UUUO T'=o01000

b T7r=01000000000

_ 1
G) = o1s vt (5.18)
0000
00000 (42)0(5.18)0000000000000000
1.452 4+ 15.1255 + 11.25 _
Gro.y(s) L (5.19)

= 0.01s3 + 1.652 4+ 16.125s + 11.256

0000000000000 L0000
00000000000000000000M(jw)000000000000000
Poy00000Re[Pgy] =—0.94140 000000 300000000000000000

1
Re[P[g_l]] > — z

1
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€

e < 1.0622 (5.20)
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e=-0.9 | -0.0801< ¢ <0.0802
¢=-0.85 | -0.0486< ¢ <0.0486
e=-0.8 | -0.0375< ¢ <0.0375
=07 |-0.0271< ¢ <0.0271
e=-0.6 | -0.0228< ¢ <0.0228
=05 | -0.0204< ¢ <0.0204
e=-0.4 | -0.0188< ¢ <0.0187
e=-0.3 | -0.0176< ¢ <0.0182
e=-0.2 | -0.0165< ¢ <0.0171
e=-0.1 | -0.0155< ¢ <0.0161

e=0.0 -0.0146< ¢ <0.0151
e=0.1 -0.0138< ¢ <0.0142
e=0.2 -0.0130< ¢ <0.0134
e=0.3 -0.0122< ¢ <0.0125
e=0.4 -0.0114< ¢ <0.0117
e=0.5 -0.0106< ¢ <0.0108
¢=0.6 -0.0098< ¢ <0.0100
e=0.7 -0.0089< ¢ <0.0091
e=0.8 -0.0080< ¢ <0.0081
e=0.9 -0.0070< ¢ <0.0071
e=1.0 -0.0059< ¢ <0.0059

e=1.0622 | D O0OOO
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(plant)
&(t) = Az(t) + bu(t — L) (A.1)
y(t) = ca(t) (A.2)

(compensator)

#(t) = Fz(t) + Du(t) (A.3)
g(t) = Kyv(t) + Kaz(t) (A.4)
v(t) = r(t) — 9(t) (A.5)

(delay)
y(t) =gt — L) (A.6)



0 (A1)~(A5) 000

&(t) = Ax(t) — bK ca(t) + bKyz(t) + bK;7(t) (A.7)
z(t) = Fz(t) — Dex(t) + Dr(t) (A.8)

0 (A7)0(A8) 0000000000000

(s — A+ bKyic)x(s) = bKaz(s) + bKyr(s) (A.9)
(sI — F)z(s) = —Dcx(s) + Dr(s) (A.10)

0 (A9)0(A.10) 00 2(s) 0000000

(s — A+ bKic)z(s) = bKy(sI — F)'{—Dcz(s) + Dr(s)} + bKi7(s) (A.11)
z(s) = {s] — A+ bKic+bKy(sI — F)"'Dc} " {bK; + bKs(sI — F)"'D}r(s)
(A.12)

0 (A2)0(A6) 000 y(s)=cz(s)e** 000000
y(s) = c{sl — A+ bKc+bKy(sI — F) *Dc} MoK, +bKy(sI — F) ' D}e *fr(s) (A.13)
00000000 »(¢+)00 y(¢) 000000000

sl — A+ bKic+bKy(sI — F)"'Dc} MoK, + bKy(sI — F) ' D}e " (A.14)
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